| dE/dx estimator 1 |

0.25

0.2

0.15

0.1

o
o
a1
L I

......................................................................

Entries
Mean

25253
2.499
1.609

Std Dev

Entries
Mean

1.611

25335

2.499

Std Dev

=

} """ R =

k2

-

1 2 3 4 5 6 7 8 9 10

dE/dx, harm?2

| dE/dx estimator 2 |

0.25

0.2

0.15

0.1

Entries
Mean

25253
2.384
1.584

Std Dev

Entries
Mean

25335
2.386
1.588

Std Dev

................

..............................................

=

0.9

E : ] AR : .
_____ | 5 ) 5 - :__ - | 5 5 i

I S v d v i

1 - , 8 <+ |:

e

L N
<+ |:

- :
-

l|||||||||||| i i) ol |-

I

V12 34 5

6 7 8

9 10

dE/dx, trunc40

=—=— DQM_mkFit_TT_base

t_TT_retrain

0.153-

0.1

BLSE B

0.05f

1

—e— DQM_mkFi

CTTITeS

¢ | Mean
: | std Dev

5.288
5.492

¢ | Entries
¢ | Mean

25335
5.278

Std Dev

5.479

Ratig
-~ T—F r&—r T F- T

T—TF

TT

0.95%

10 20 30 40 50 60 70 80

dE/dx number of measurements

0.95%

M CTTaTeS
[ Mean
: |_Std Dev

| Entries
¢ | Mean

Std Dev

0 10 20 30 40 50 60 70 80

dE/dx number of measurements with saturation



	Contents
	Page 1


